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No. of Questions/ﬂ'ﬁﬁm‘l : 180
Time /@4 : 2 Hours/9"%¢ Full Marks /Uit : 450

This paper consists of Objective Type Questions and is divided into
TWO Sections (I and II) as under :

Ig WH-UF Sgladedd W W oEia ? an @ @uel (1w ) # fawe
2, dm & 9 aftfg R -
(a) Section—I consists of 120 Objective Type Questions on Mental

Ability, Quantitative Aptitude and General Knowledge & Current
Affairs.

(%) @WUB—I H 120 TTAFHCIA T HARKFH I, GREwT g Hie
Ag1 W FH T aTeie geAst W amaii| #

(b) Section—II consists of 30 Objective Type Questions on (i) English
Language and (ii) Hindi Language.

(@) @us—II ¥ 30 #@laweda W& (i) FHush W ok (i) et won &
FH Ty € |

A candidate is required to attempt as many questions as he/she can of

Section—I, and questions of ANY ONE of the TWO Language papers

(i) English or (i) Hindi in Section—II.

angefi & snifid 2 T wue—I awr @wue—II & (i) st @ (i) &=

T §F % AfEETuE YE B g

Note /ﬂ’lz . (1) Each question carries 3 marks. One mark will be deducted for each
incorrect answer. Zero mark will be awarded for each unattempted

question.

YT W 3 3% F ol TS Ted I H [0 Uk Hb HEl @ |
T® AN W 1 WHIE [ A

100) 1 (P.T.O.)
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(100)

(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

afe wwifts SHfcas I Gd IW F e wdld &, @ Feeay ad =
gl

(3) Each question is followed by Four alternative answers (i}, (2). {3) and
(4). Only one of these answers is correct. Select the correct answer and

record it against the relevant question by darkening the circle with Ball
Point Pen in the Answer Sheet, as per the guidelines.

TAF W F AR AFCIR IW FAC W E B (1), (2), (3) O (4) A
¥ g TR T OR FAA O @ IW WA R T 3w o wm hw
A1 3WH THd F IW-UT B qemEsfi v ¥ owmd fEwman st g
(MeTE) N AR WiEe U g FrET FF g '

Section—I

QUs—]

In December, 2015 which country has sent the first uranium consignment of
250 tonnes to India?

(1) Japan (2) Israel (3) Russia (4) Canada
femwe, 2015 # fFm 3w 3 250 27 AT 1wy S ww o
(1) ST (2) ST (3) ®H (4) TSI

Who became the first country in the world to approve a vaccine against dengue
fever?

(1) Mexico (2) India (3) China (4) Lybia

S gan & fowg @1 g 0 arn v @ owuw 3w A gane

(1) ufFg= (2) WmE (3) = (4) ifern
2
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Union Government issued a notification regarding the long-pending
One-Rank-One-Pension Scheme for which category of people?

(1) Physically handicapped (2) Ex-serviceman

(3) Socially backward (4) None of the above

F7 R 7 T Ef ¥ affaa w-Aoi-uw-tve A @ gt sfgen R
Tt ¥ am F fou fofa fFa?

(1) wiifeR 3-8 (2) @ &
(3) g &9 & fige (4) IH § & H¥ T

Internet is accessible to one crore passengers at 100 busiest railway stations in
India till 2016 and will later expand it to 300 other stations. Which organization
is working for this project?

(1) IBM (2) Infosys (3) Google (4) Facebook

Y016 7F T § 100 TEGH o RYA % U HUg I6 T T A R A
sz § 300 39 WAl @k W fawfa fen smom, @ ofEem & fog sE-ar g
Fd W @ 87

(1) smodtoudo  (2) FHITEH (3) T (4) HEIH

Which city has been selected as the host for the 2022 Commonwealth Games at
the Federation’s General Assembly in New Zealand?
(1) Johannesburg (2) Gauteng

(3) Durban (4) Pretoria

3 (P.T.0.)
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(100)

mﬁmﬂmmEhﬁzomfmﬂwﬁn%m%mﬁmw
F T A7

(1) SgrHe (2) T (3) T@H (4) fretfan

Which city was judged for UNESCO’s World Heritage City tag for the year 2016 2

(1) Ahmedabad (2) Ranchi (3) Varanasi (4) Srinagar
a4 2016 % foru Z9=Rt & fava @ W ¢ % {90 9 TR 1 fofiq fF e
(1) 3FEHETET (2) T (3) o @) s

Meghnad Saha is known for his contribution in which one of the following
fields?

(1) Physics (2) Medical Science

(3} Environmental Science (4) History

Teae qel Aefaiad § 9 g a3 8 399 amem % foe s e 20
(1) dtes fagm (2 fafee fgm (3) wiew fagm (9) sfaem

Who is the proponent and propagandist of the ‘Art of Living’?

(1) Maharshi Mahesh Yogi (2) Sri Ravi Shankar
(3) Swami Chinmayananda (4) Bhagwan Rajneesh
‘I st fafan’ & uwas qw wEnE w4 27
(1) wefd #gw arf (2) A Tamw
(3) @t fa=ram= (4) WTaH TS

4
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Who 1s the First Air Chief to receive the honour of ‘Marshal®?

{1) Arjan Singh (2) Satish Kumar Sarin
(3) S. K. Mehra (4) Yashwent Tipnis
‘mrete’ 1 TR W HH aiet WY I Y@ FH 7

(1) 3f7 e (2) &l FHR |lH

(3) THo Fo HEW (4) FE= feaf

Which of the following pairs is not correctly matched?

Organization Headquarters
(1) International Labour Organization Geneva
(2) International Maritime Organization London
(3) International Monetary Fund Washington
(4) International Atomic Energy Agency New York
Frfafga § @ #9-81 39 9E-88 gafoa T 87

q3 qEITd
(1) F=UFE ¥ "I San
(2) R WY TS A
(3) F=AYHE gz HIY arfenTes
(4) w=widg e ot sifeRo DRIE

S

[ ]
gcollegedumas
India’s largest Student Review Platform

—

(P.T.O,)



18U/ 118/25 Set No. 1

11.

12.

13.

(100)

Which award is given for excellence in sports?

(1) Jamnalal Bajaj Award (2) Arjuna Award

(3) Tagore Award (4) Moortidevi Award

g i PR ¥ e SH-m1 qER o 2

(1) AT oS [ (2) ¥ TR

(3) i grERR (4) et

The term Deuce’ is common in which of the following two games?
(1) Basketball and Badminton (2) Badminton and Tennis
(3) Volleyball and Tennis (4) None of the above

‘T T fefafes § @ 9 @ gl 8 I 27

(1) sieheaia au1 defied (2) sefmes aun 2fm

(3) sieftare qur 2fm (4) ITH | @ FE T

Faster, Higher, Stronger’ is the motto of which international games event?
(1) FIFA World Cup

(2) Olympic

(3) World Athletics Championship

(4) Afro-Asian Games

BRA, T, §R R oy @e weAl #1 ey a2
(1) Hr fawa w9 (2) e
(3) fava wuwifes Sfrggafig (4) THI-TREA T
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14. Often we read in newspaper that some Government Projects has started on PPP
basis. What is the full form of PPP ?

(1) Preferential Payment Plan (2) Public Private Partnership

(3) Partial Payment Projects (4) Public Private Plan

B Y §aER o H ugd § % 39wl ofased PPP’ smur W wmew gu #
‘PPP’ F1 [UIET FT1 R?

(1) frrtfaees 9= @ (2) ufes wigae T

(3) wifdge IH= WSEeH (4) ufscth WRAZ <A

15. Alice in Wonderland the famous TV Serial, is based on a book written by :

(1) Charles Dickens (2) Thomas Hardy

(3} Lewis Caroll (4) Father Dicoste

yfig e uNEleF Uform §9 FStels —— % gu fafed g W oemafa )
(1) =ed fedmm (2) 9wE wEl (3) dfm ®a  (4) v fewr=

16. The largest manmade canal in the world is :
(1) Rhine Canal (2) Panama Canal
(3) Suez Canal (4) Baltic White Sea Canal
ofen ) wifos et e P TR

(1) T TR (2) 9IHT A=
(3) = & (4) =fees sgrge H A®

'100) 7 (P.T.O.)
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17.

18.

19.

(100)

Who is the father of Computer Science?

(1) Alan Turing (2) Adam Osborne
(3) John Moore (4) Neal Stephenson

Froq fagm % s # E7

(1) ¥e@ ST (2) TeH AFaH  (3) AR (4) H= ¥

Term BT is associated with which of the following crops?

(1) Rice (2) Wheat (3) Cotton (4) Oilseed
BT wez faefofiea d @ fre wow @ grafua 27
(1) == (2) T (3) HIH (4) foere

On the packet of a packaged food product, what is the symbol that indicat
that the food is vegetarian?

(1) A green plus mark
(2) A green square in a circle
(3) A green leaf of a plant

(4) A green circular dot in a square

Fafq @ I ¥ e WA whE w2, W ogfad w2 fF i s
27

(1) &0 Sig w1 o (2) 99 # 7O o
(3) dig i #f e (@) @ & 70 guEn fag
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20. The deficiency of which of the following leads to anemia?
(1) Ascorbic acid (2) Citric acid
(3] Folic acid (4) Nicotinic acid

faafeafiga & | forad &t 4 wwefioar &t 27
(1) wfd® 3 (2) 9% o (3) wife o (4) Pt o

21. The Government of India has established NITI Aayog to replace the :
(1) Human Rights Commission (2) Finance Commission

(3) Law Commission (4) Planning Commission
gra R 1 Fae e w e smm & e #7

(1) 994 IAfeER 3mEm (2) fm amam

(3) fafer smam (4) TISAT M

22. Who acts as the Chancellor of State Universities?

(1) Governor (2) Chief Minister
(3) Chief Justice of India (4) President
T ¥ Prvafaedl ¥ pafel ¥ w5 § 29 w5 e §
(1) TS (2) geh
(3) WRA % &I AATHE (4) Tpufd
(100) 9 (P.T.0.)
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23.

24.

25.

(100)

After the General Elections, the Protem Speaker 1s :

(1) elected by the Lok Sabha

(2) appointed by the President of India
(3) appointed by the Chief Justice of the Supreme Court
(4) the Senior-most Member of the Lok Sabha

AN FAE F oAg FE FAy T R

(1) drFaa gr fatfaa

(2) wra % wgufa gra g
(3) FoN WA % qE A ga Ry
(4) AHA & FEHE ANE HTH

Which is the First National Park established in India?

(1) Velavadar National Park (2) Periyar National Park
(3) Bandipur National Park (4) Corbett National Park
YR § TIiYa S99 TP 3UH %9 27

(1) dear T ITH (2) ¥fEm T TN

(3) ST T I (4) HiEE T T

What is the Kyoto Protocol™?

(1} A United Nations Resolution with a goal of increasing food production
(2) An International Treaty with a goal ol saving endangered species

(3) An International Treaty with a goal of reducing major greenhouse gases

(4) A United Nations Resolution with a goal of eliminating terrorism

10

gcollegeduniaa

—



18U/118/25 Set No. 1

R WNIAHA w1 R7

(1) @ 39 gig F @87 T F &9 U7 F1 YeE)

(2) HFhewE Sfa wl A W F wed F o uw swRivly anzan)
(3) vq@ Hess 6l # wR % RE F v w =y @y
(4) MAHATE FAGA & W@ & o0 & wgw Uy weE|

26. The highest Himalayan Peak in India is :

(1) Kanchenjunga (2) K2

(3) Nanda Devi (4) Nanga Parbat

v § I=an femerm firat 2

(1) Faaedr (2) %2 (3) @ &t (4) ¥ da

27. The intensity of earthquakes is measured on :
(1) Beaufort Scale (2) Richter Scale

(3) Secant Scale (4) Mercalli Scale
LG & digar o F o v @ R

(1) o B (2 e &a (3) HF= @A (4) FH
28. Which Round Table Conference was held in 1932 ?

(1) First (2) Second (3) Third (4) Fourth

FH M B GHEA 1932 H g3 A17

(1) &en (2) @ (3) dw (4) e

'100) 11 (P.T.O.)
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29.

30.

31.

32.

(100

Where was the capital of Maratha Empire during Shivaji’s Rule?

(1) Raigarh (2) Sindhudurg (3) Poona (4) Kolhapur

Rt ¥ TR Fie F 2H TS gy 6t e wE o7

(1) IS (2) ﬁ:‘lrgsli (3) g1 (4) =hlceTql
Which one amongst the following is the Oldest Dynasty?

(1) Pallava Dynasty (2) Chola Dynasty

(3) Maurya Dynasty (4) Gupta Dynasty

freifes § @ F9 ga0 WA T9ET R7

(1) U3 TEw (2) W9 Twaw  (3) W TEEW (4) W TEw
Gautam Buddha gave his first sermon at :

(1) Vaishali (2) Sarnath (3) Kaushambi  (4) Pawapuri
ftem gg 3 AU WYW WaEq Fal fea un?

(1) awmeft | (2) WA H (3) Hromet § (4) wraTgd #

Taxila University was situated in :

(1) Pakistan (2) India (3) Bangladesh  (4) Burma

qufiren fovafeaer wal s@ftm 47

(1) TiF=m 4 (2) Wmd H (3) ey (4) =smf H
12
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33. Who was the last British Viceroy of India?

(1) Lord Lintithgow (2) Lord Wavell
(3) Clement Atlee (4) Lord Mountbatten
yra @ 3fon fsfew ammm sk a7
(1) ®ig femfeepia (2) & Faq=
(3) Fefi=e weett (4) T8 WP

34. In an economy, the sectors are classified into ‘public’ and ‘private’ on the basis
of :
{1} employment conditions (2) nature of economic activities
(3) ownership of cnterprises (4) use of raw materials
iR | & e Aun W wEete o el d affga 27
(1) T i feafeat (z)anﬁfmnﬁrﬁfﬁzﬁaﬁuﬁ
(3) et F1 =i (4) FEH F FHAA

35. Which of the following is the farthest Planet to the Sun?
(1) Mars (2) Jupiter (3) Neptune (4) Earth
frerifra § @ #17 9d & w@w 78 R
(1) HTel (2) geeafa (3) T (4) geh

36. The World’s longest river is :
(1) Nile (2) Ganges
(3) Amazon (4) Mississippi-Missouri

(100) 13 (P.T.O.)
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37.

38.

39.

40.

(100)

ﬁ?ﬁﬁmﬁ'ﬁlqﬁ%
(1) = (2) T (3) A

(4) Tefafad-

Which of the following is the best conductor of the heat?

(1) Mercury (2) Silver (3) Leather
fifed § @ #9919 %7 Gaioq GaEs 27
(1) W@ (2) 94 (3) =W

A computer works on a number system.

(1) binary {2) octal (3) decimal
0F FYH T —— HEA Yl W FH Fal 2
(1) fgamurd (2) s (3)

Insulin 1s a kind of :

(1) salt (2) hormone (3) enzyme
fgfem Preifea & @ e yom 27
(1) 9% I (2) HE (3) USEH

How many squares are there in a Chess Board?

UF IS I fomd § fFad o 29 27
(1) 36 (2) 48 (3) 64

14

(4) Benzene

(4) s

(4) hexadecimal

(4) edETeime

(4) vitamin

(4) fafim =

(4) 72
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42.

43.

(100)
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In a cricket match ‘Kapil’ took one wicket less than twice the wickets taken by
‘Ravr’. If the product of the number of wickets taken by these two is 15. The
number of wickets taken by ‘Kapil’ is :

uF fFEe ¥ g § we gm o mn faee, MY F gw foe o et & @ R
q uw w9 2 gl QA % g fow R ft wem @ pReE 15 2, @ w e

(1) 3 (2) 10 (3) 5 (4) 6
A rectangular field is 16 m long and 10 m wide. There is a path of uniform width
all around it, having an area of 120 sq m. The width of the path is :

(1) 1 m (2) 2 m (3) 3 m (4) 4 m

U ATER &3 # s 16 Ho U Ste@ 10 Ho ) WH IW TE WA AISE
% TEN R, AR TR oAyl AF%a 120 91 o B, @ TR # «tTE 2.

(1) 1 e (2) 2 Hto (3) 3 Hio (4) 4 o
Which term of the AP 3, 8, 13, 18, is 2487

qurat Aoft 3, 8, 13, 18, ——— I HH-T1 U§ 248 B7

(1) 49 (2) 48 (3) 51 (4) 50

How many members of two digits number are divisible by 5?
& a7 arch et geand, 5 @ favrsa €7

(1) 20 (2) 16 (3) 18 (4) 19

15 (P.T.O.)
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45.

46.

47.

48.

(100)

In triangle ABC, AD is the bisector of £ BAC. If AB =10 cm, AC =6 cm and
BC =12 c¢m, then BD 1s equal to

(1) 75 ¢cm (2) 4'S cm (3) 65 cm (4) 55 cm

fiqs ABC ®; AD, £ BAC %1 ®Higui® 21 3@ AB =10 Hoflo, AC =6 Horfto
a9 BC =12 HoHlo, @ BD F1 9H © :

(1) 7:5 ®oHilo (2) 45 HoHio (3) 6:5 HoHlo (4) 55 oo

ABC and DEF are two similar triangles such that BC =4 ¢cm, EF =5 ¢m and
area of A ABC =64 cm?. Area of A DEF is

(1) 125 cm? (2) 120 cm? (3) 150 cm? (4) 100 cm?

fiqs ABC aa1 DEF 7t wwey fiyst & fmd BC =4 otlte, EF =5 Fetdto auy
A ABC #1 &9%d 64 Botfto? &, d N DEF #1 &% 2

(1) 125 Horfto?  (2) 120 Hoifto?  (3) 150 HoHto?  (4) 100 Hotfto?

The altitude of an equilateral triangle, having the length of its sides 1 cm, is

(1) 10 cm (2) 75 cm (3) 5V3 cm (4) 5 cm
10 Hetfto o arel wwarg Fyet & sfifera ) owd 2
(1) 10 "oHlo (2) 7-5 Totto (3) 543 Hoiflo (4) 5 FoHflo

PT 1s a tangent-segment to a circle from an external point P and PAB is a secant
of the circle intersecting the circle at points Aand B. If PA = 3 cm and PT - 6cm.
then AB is equal to

(1) 12 cm (2) 9 cm (3) 6 cm (4) 15 cm

16
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T7 ¥ dw-fag p & @ woi-Y@ PT ot T R a1 PAB 39 # w deF
R W gW H fagel A awm B W wdr et 2 aR pa-=3 Fofo @
PT =6 Hoflo %, @ AB % o= &m

(1) 12 Totfto (2) 9 Hotfto (3) 6 Foifto (4) 15 oo
49. Ifx=rcosasinf,y=rcosa cosf and z = r sin «, then x2 +y?+2%is equal to

e x=rcosa sinP, y=rcosa cosp 94l z=rsina, @ x> +y2+32 F1 99 &

2 2
(1) 2r? (2) % (3) r? (4) f2_

§0. If 0°< 6 < 90° then solution of the equation 4 cos?0-1=0 is

3% 0°<0<90° M 4cos?0-1=0 F & B

T 2= T T T T
1) 9==, — 2) 0 =— 3) 0=— =
(1) = (2) 3 (3) = (4) © 5 F
51. Without using trigonometrical table, the value of

tan 1° tan 10° tan 20° tan 70° tan 80° tan 89° is

Freprorfifa el &l BeiL| feru o &

tan 1° tan 10° tan 20° tan 70° tan 80° tan 89° & 4H 2

1
V3

52. A vertical straight tree, 15 m high, is broken by the wind, in such a way that its
top just touches the ground and makes an angle of 60° with the ground. The
height of the point from the ground at which tree is broken is

(1) 1 (2) 0 (3) V3 (4)

15 15V3 15 153

3 Pt sty
(1) ZedE 2 2+43 ) 2-43 ) 2-43

(100 17 (P.T.O.)
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mmwwqaﬁmmﬁwm% g ¥ 3@ VAR g T 2 R T
o fan vfee 1 o F@ T, gyt 8 60° F FW &0 W@ 21 A 5 34

¥ @ e wr-fg i SR R
5 a 15V3 i g 15J',‘h.ﬂ
b=t @ 3) J— ¥ Mg

53. A hollow cylindrical copper pipe is 21 dm long, its outer and inner diameters are
10 cm and 6 cm respectively. The volume of the copper used in making copper

pipe 1s
(1) 1056 cm’ (2) 2112 cm? (3) 21120 ecm®  (4) 10560 cm’

oF GrEe deEEr afd w1 ugu 21 oo Tl R IR e F@ AW a=fiE
=E FHM: 10 Hoflo dur 6 Hodlo dl W A F Uy H T A WIH did &0

AT 2
(1) 1056 Borfto? (2) 2112 Hotto?
(3) 21120 Hotfto? (4) 10560 Bowfto3

54. A military tent is in the form of a right circular cone of vertical height 6 m. The
diameter of the base being 7 m. If 12 soldiers can sleep in it, the average cubic
metres of air space available per soldiers is

wF Afw 2 Ta-gdn vp F w4 @ @ fowehl satm SuE 6 o qw 3mn
AT H s 7 do @) AR 12 AF W R A A ¥ @ wEw dfw ¥ R
Iqeey e gal (T ©E) A de ¥ @

(1) 12-8 (2) 6 (3) 12 (4) 64

55. A cylinder, whose height is two-third of its diameter, has the same volume as a
sphere of radius 4 cm. The radius of base of the cylinder is

(1) 8 cm (2} 10 cm (3) 4 cm (4) 2 cm
(100) 18
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T 9vd H SO 30 AW F A-fed F W € a9 3w a4 Fodte fsa
aet M & HETH & T 81 FH F AR H e @

(1) 8 Hotfto (2) 10 Hotto (3) 4 Hotfto (4) 2 Boifto

§6. The mean weight of students of a class is 46 kg. The mean weight of boys is
50 kg and that of girls is 40 kg. The ratio of the number of boys to the number of

girls is

%ﬁimm%mﬂmaﬁmm%%mn%la'gaﬁmaﬂmwsofésomnam
aSlFA F AT 9N 40 fhowto | wewHl H dEw qun TR A wEwm w IHIE
g

) 2:3 {2) 3:2 (3) 3:4 (4) 4:3

57. Cards marked with numbers 2 to 101 are placed in the box and mixed
thoroughly. One card is drawn from this box. The probability of a number
marked on the card which to be a perfect square is
3 2 ¥ 101 9% A wEaed ¥ g wef f o 9w § o= @ A fiem @
T R W afa" 4 U FwE feen w1 FE W s wem & il @ 6
Ty (Mefeferdt) @

9 10 1 1
(1) T (2) 101 (3) 10 (4) 5

58. The centroid of a triangle formed by the straight lines x-2y =0, x+ y =3 and
2x+y+4=01s

@t x-2y =0, x+y=3 A 2x+y+4=0 T CC | 4y ﬁ'ﬂ“‘ N FE
(centroid) ®
(1) (-11, 17) (@) (11, 17) (3) [_% %J @) [-1, g)

100) 19 (P.T.O.)
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59.

60.

61.

62.

63.

(100)

1 1 |
If x=log, bc, y =log, ca and z =log, ab, then valucﬂfx+l+y+l+;+fls
1 1 1
. " a4l z = , F WA 2
afe x =log, bc, y =log, ca z=log,ab e
(1) O (2) 1 (3) 2 (4) 3
The value of log 5 64 is

(1) 6 (2) 8 (3) 10 (4) 12

The value of logg[logz{log3(1og3(2'?]3]}] 1S

log ;[ log,! 1083(1033@7)3)}] N AH R

(1) O (2) 1 (3) 2 (4) 3

The monthly income of A and B are in ratio 4:5 and their expenditure are ir
ratio 2 - 3. If A saves Rs 400 and B saves Rs 200, then monthly income of B is

(1) Rs 1,600 (2) Rs 2,000 (3) Rs 1,800 (4) Rs 1,500

A A B R uifes 3™ H IGUE 4:5 AU Fh |G H @ 2:3, AT A F
F99 400 To a1 B HI = 200 ¥o &, @ B Hl WiEF HF 2

(1) 1,600 %o (2) 2,000 %o (3) 1,800 %o (4) 1,500 %o

The population of a town is 50000. If in a year the number of males were tc
increase by 5% and that of females by 3% annually, the population would grow
to be 52020. The number of males in the town at present is

ffi @ (a3A) & s=E@ 50000 Bl 3@ 99 H "@E@m 5% 1 mw ¥ oay
qfeensll 1 @@ 3% Wia 9§ f @ F Fdedt B, 9 SHEEn s@w 52020 & A
3 adum & @ (awd) § qedl A w2

(1) 24000 (2) 25000 (3) 26000 (4) 27000
20

gcollegeduniaa

—



18U/118/25 Set No. 1

64. A sum compounded annually become % times of itself in two years. The rate of

interest per annum is

ﬁmmmﬁﬂﬁﬁﬁﬁf—gwﬁm%lmﬁagﬁaﬁ%
(1) 20% (2) 30% (3) 22%% (4) 25%

65. The compound interest on a certain sum of money at 5% per annum for 2 years
is Rs 328. The simple interest, on the same sum for the same period at the same
rate of interest is

{1} Rs 300 (2) Rs 320 (3) Rs 310 (4) Rs 315
frdt o7 F1 5% wwafg 9 A R A 2 a6 § THIg W 328 To @ AT B
oo I @ o A oI A @, N 9N ¢
(1} 300 %o (2) 320 %o (3} 310 %o (4) 315 %o

66. A merchant purchases a wrist-watch for Rs 450 and fixes its list price in such a

way that after allowing a discount of 10%, he earns a profit of 20%. The list
price of the wrist-watch is

(1) Rs 600 (2) Rs 580 (3) Rs 560 (4) Rs 520

T FOE 450 Fo H T Ty A T GWigwm B @ U W (@ W R 3ifEa
Fal 2 B 10% g2 3 & 91 ft 20% # AN @) Y A wE W iR
2

(1) 600 %o (2) 580 %o (3) 560 %o (4) 520 %o

67. A man sold two horses for Rs 1,232 each. On one he gained 12% and on other
he lost 12%. The gain or loss amount in this transaction is

(1) Profit : Rs 36 (2) Profit : Rs 32
(3) Loss : Rs 30 (4) Loss : Rs 36

(100) 21 (P.T.O.}
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68.

69.

70.

(100)

s el 3 Ael @ oawl, yRAE W F fawd qed 1,232 %o B TF "3 7 A
12%351?-17%1@3113&11?@1«12%ﬁmﬁ§§|mmﬂﬁ3§@—c{ﬁﬁﬁmﬁm

SIS R I K
(1) &9 : 36 ®o (2) @M : 32 %o
(3) & : 30 %o (4) T : 36 %o
3 3 B
If x:a=y:b=2z:c, then %+~g3+-:—§—is equal to
Xy 2
I x:a=y:b=2:¢ al a2+b2+c2 # UF ®
1) (x+y+2)° 2) x3+yii f_z_;_‘j’
(a+b+c) a’+b?+c?
3) X+y+z @) (x+y+z)?
[ﬂ+b+C)2 a+b+ec
The duplicate ratio of 2:9 is
2:9 F yfaeq (gwlhe) o @
1.1
1} o273 2) —:— 3) 4:81
(1) v2 2 55 3)

If 2x+3y:3x-2y=19:9, then x:y is
ﬂﬁ 2x+3y:3x-2y =19:9, a X:y s HHA %

(1) 2:5 (2) 3:5 (3) 4:7

22

(4) 8:729

(4) 5:3
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71. Ten’s digit of a number of two digit is greater by 7 than the unit’s digit. Sum of
digit is § of the number. The number is

7 HH Fl N W TEE F AF IR H 3’F R 7 WY R FH & AN, IW W&
# L % s g gem R

(1) 18 (2) 72 (3) 92 (4) 81

72. The difference between two numbers is 1365. When the large number is divided
by smaller one, the quotient is 6 and remainder is 15, The greater number is

3 wEmst F IR 1365 ¥ V@ I FE H O FEn d vm fwm s @, @
WIS 6 9T V9 15 =T B 9 @ 2

(1) 1635 (2) 1536 (3) 13563 (4) 1653

73. One pipe empties a pool in 1} hours. A second pipe empties it in 12 hours. How
long will it take to empty the pool if both the pipe are open simultaneously?

0 Losare @) L houws 8 Choas W 22 heni
26 13 3 21

vF iy Rl Foz H 1L 92§ @t w20 g0 e I Fug & 13 W2 H
et Far 21 afe Al udul # wwey @e o 9w, d@ gve @ et @n d R
ue i ?

21 4 ,q% 5 G 26 _.

e — 3) = =M 4) == w2

(1} =% @ = @ 3 9l 5

74. Some students planned a picnic. The budget for food was Rs 500 but 5 of these
failed to go and thus the cost of food for each member increased by Rs 5. How

many students attended the picnic?

Fo oF fhs & @F R 3T 9 F1 99 500 %o Fuif@ o1 fFg 379 2 5
aE fiehs a8 ™ s s s T7 9" =F 8 | 99 # @9 5 %o
7z a1 e om fsfte ™7

(1) 25 (2) 20 (3) 24 (4) 50
100} 23 (P.T.0.)
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il Ginst T

75. The sum S of first n natural numbers is given by the relations § =

sum is 276, then the value of n i1s

nWWWﬁWWS%WWW@Szi(%*ﬂg,ﬁWﬁ

e

WWE?G%,‘FFT nﬁ[m%
(1) 21 (2) 22 (3) 23 (4) 20
76. A journey of 192 km from Mumbai to Pune take two hours less by the fast train

than by the slow train. If the average speed of the slow train is 16 km/hr less
than that of the fast train. The average speed of fast train is

(1) 32 km/hr (2) 48 km/hr (3) 24 km/hr (4) 36 km/hr

s d g0 H 192 fForfio H Amn, demfd #it 27 ® R w, dfifinfa F Iz
8, 2 W2 ¥ ww e 21 AR diefinfa & 33 f ofwm e, asmfa awht 33 i af
A 16 fFotfio/do &9 B, a1 A9 arefl 29 A 3hww iy R

(1) 32 fFodto/Fo (2) 48 fHorio/Ho
(3) 24 forfio/Ho (4) 36 FRorfto [Ho

77. Find the value of k, so that the quadratic equation (k+1) x? -2 (k -1)x+1=0
has equal roots

(1) k=0or k=1 2) k=-3or k=2

(3) k=3 0or k=4 (4) k=0or k=3

feama =t (k+1) %% -2 (k-1)x+1=0 % 34 90 990 &, & k 31 09 2
(1) k=0 ¥ k=1 (2) k=-3 HYal k =2

(3) k=3 ¥l k=4 (4) k=0 39aT k=3

(100) 24
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78.

79.

80.

81.

82.

1 100

18U/118/25 Set No. 1

HCF of the polynomials 18 (x” ~9x? + 8x) and 24 (x? -3x + 2) is

TEIL 18 (x° -9x? + 8x) AUT 24 (x2 -3x+2) F HoHoYo 2
(1) 6(x+1) (2) 6(x-2)
(3) 6(x-1) (4) 6(x~-1)(x-2)

In a group of 52 persons, 16 take tea but not coffee and 33 persons take tea.
The number of persons take coffee but not tea is

52 =Rl & W H, 16 919 &d § frg FA T8 @ o 33 =ufs 9w Ay 3
7 sl A HEn W FE A g T T a2

5 A 2 (2) 19 (3) 36 (4) 18

[t is required to seat 5 men and 4 women in a row so that the women occupy the
even places. How many such arrangement of seating are possible?

5 TESt quT 4 wiEensdt i U W ¥ W VHR A3 2 % ufean Faw oy g@mm
I H WA 43| 3 TR, fFad v 8 3 i Sqaen g 27

(1) 24 (2) 120 (3) 20 (4) 2880
The last three digits in the multiplication 12345 x 54321 will be
VA 12345x 54321 H Afqw & 3 &rfi

(1) 745 (2) 945 (3) 865 (4) 235

By what smallest number, 21600 must be multiplied or divided in order to
make it a perfect square?

v ufyrg @ s & fe 21600 F R wEd S wen & om sgEr wm A
F1fen ?

(1) 6 (2) 5 (3) 8 (4) 10 |
25 (P.T.O,)
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83.

84.

85.

(100)

How many numbers between 400 and 500 are exactly divisible by 12, 15
and 20 °7?

(1) One (2) Two (3) Three (4) four
400 3R 500 ¥ i Read gEd 12, 15 3k 20 g ghFE w9 @ frsa R7
(1) (2 & (3) T (4) =M

The daily wages of a worker increase by 20% but the number of hours worked
by him per week drops by 20%. If he was originally getting Rs 500 per week,
how much will he get now?

(1) Rs 400 (2) Rs 480 (3) Rs 360 (4) Rs 380

& gl F 3w weght 20% @ Fedl B, fhg 39H g R w W A gmw gl
TAR 20% ¥ U2aT 2| 32 9% gem: Wid GEIE S00 %o W L TEl ¥, W =w PR
ITH FAT7

(1) 400 %o (2) 480 %o (3) 360 %o (4] 380 %o

Mukul bought 80 kg of rice for Rs 1,200 and sold it at a loss of as much money
as he received for 20 kg rice. At what price per kg did he sell the rice?

(1) Rs 11 per kg (2) Rs 10 per kg
(3) Rs 8 per kg (4) Rs 12 per kg

g% 4 1,200 %o FH 80 kg WEd @il 3 20 kg 996 & fow fyew 99 399
g fFar, & 9@ W a9 @@ e v e e e 8 saa aen

(I) 11 ¥o per kg (2) 10 ®o per kg

(3) 8 %o per kg (4) 12 %o per kg

26
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86. A man covers first 20% of the distance at 10 km/h, next 50% at S km/h and the
remaining distance at 15 km/h. Find his average speed

(1) 7 km/h (2) 724 km/h  (3) 789 km/h  (4) 4-17 km/h

TF Afth 10 fhotlio /Mo & gt &1 Wom 20%, IFem 5 fFotfie /g0 & 50% I T
afl 15 fFotito/Ho B 0 Fa1 21 Wi 3ftwa v Hifvm

(1) 7 hotio /g0 (2) 724 FhoHio /g0
(3) 7-89 oo /g0 (4) 417 Fretlto /o0

87. The average of squares of consecutive odd numbers from 1 to 13 is

1 ® 13 % Hura fawm g@ei & an & oiug @

(1) 70 (2) 65 (3) 75 (4) 66

88. At what rate percent annually compound interest will Rs 625 amount to Rs 676

in 2 years?
frm aiffs o wfdwa & 625 %o 2 awl A wHglg W H 676 %o AM?
(1) 3% (2) 2% (3) 4% (4) 5%

89. A tap can fill a cistern in 8 hr and another can empty it in 16 hr. If both taps are
opened simultaneously, the time (in hr) to fill the tank is

UF T TH G B 8 U H W I 2 M W W 16 W § @t W W ) AR
Ml 7 THEY Gl ?, 9 &% WA F oW (Fa H) 2

(1) 8 (2) 10 (3) 16 (4) 24
'100) 27 (P.T.O.)

[ ]
gcollegedumaa
India’s largest Student Review Platform

—



18U/118/25 Set No. 1

90. In an educational institution there are 15 more boys than girls. If the number of
boys is increased by 20% and number of girls is increased by 15%, there would
be 29 more boys than girls. How many students are there in the institution?

ﬁﬁaﬁmmﬁﬁag%ﬁﬁm%ﬁmmiiuﬁmﬁﬁmm%ﬁ
m%mmﬁmlsﬂm%w%,mﬁzommﬁi
geg | fFad B 27

(1) 250 (2) 255 (3) 230 (4) 455

91. Four horses are tethered at four corners of a square plot of side 14 m, so that

the adjacent horses can just reach one another. There is a small circular pond
of arca 20 m? at the centre. Find the ungrazed arca

(1) 22 m? (2) 42 m? (3) 84 m” (4) 168 m?

ar W2 14 o RER ¥ UH T W F AW FA § v A @ v 99§ e
fr fime & O wH-g@ F U@ g9 uH| d@ dm d 20 W & OF = I
gaTER derE 21 fa 9 @F F sEhe 9 H

(1) 22 w2 (2) 42 #i? (3) 84 wt? (4) 168 Hi2

92. A rectangular pool 20 m wide and 60 m long is surrounded by a walkway of
uniform width. If the total area of the walkway is 516 sq m, how wide is the
walkway?

(1) 43 m (2) 43 m (3) 3 m (4) 35 m

& 20 Ho wtg 3 60 WMo TET TH HWAHR dcld THFANH I F ouw dae
aet g fm R 3l e ot w1 Fa &3 516 @ Hlo B, @ Yem wil fEew wtm
27 |

(1) 43 o (2) 43 Hio (3) 3 Hto (4) 35 #Hto
(100) 28
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93. 4 bells toll together at 9:00 AM. They toll after 7, 8, 11 and 12 seconds
respectively. How many times will they toll together again in the next 3 hours?

4 wfvEat 9:00 YalE # whwy werdt &1 I wWw: 7, 8, 11 3R 12 Ak v
g4 21 30 3 g2 ° fRadt 9w A wwmy R a7

(1) 3 (2) 4 (3) 5 (4) 6

94. ind the number of divisors of 720 (including 1 and 720)

720 (1 3 720 WHA) F W 6 G@ fHAEE

(1) 25 (2) 28 (3) 29 (4) 30

95. What is the next number in the series given below?

= & o Ioft § el e T 27
2,6,11,17, 24, —

(1) 29 {2) 32 (3) 33 (4) 35

96. The average weight of 6 persons is increased by 2'5 kg, when one of them whose
weight is 50 kg is replaced by a new man. The weight of the new man is

(1) 65 kg (2) 75 kg (3) 76 kg (4) 86 kg

6 =afdl 1 3 g 25 fHouwte Wg w1 R, IR W | w =fr Fmw T
50 fHoTto € 3% WM W TF T4 eHl &l W@ o ™| ¥ =i &1 399 2

(1) 65 fFemo (2) 75 fFomto (3) 76 fFouto (4) 86 fFomo

(100, 29 (P.T.0.)
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97,

98.

99.

100.

101.

(100)

The population of a town was 10000 at the end of the year 2000. What will be
the population of the town at the end of the year 2002 if the rate of population

growth is 20% per annum?

7§ 2000 ¥ 3@ # vF AW H swEem 10000 4 ;W FEEn gz @ v @
20% 2, a8 2002 ¥ 3@ § W & FAGE FT & ?

(1) 14800 (2) 16200 (3) 15400 (4) 14400

Iif 4a? + 8b*% =12ab, then find a:b

Iz 4a? +8b2 =12ab, @ a: b FFE
(1) 1:2 (2] 32 o] 211 (4) 2:3

Between 5 a.m. and S p.m. of a particular day for how many times are the
minute and the hour hands together?

o faviy 7 ¥ 5 99 ale AR 5 W AWE & #9 fRH aw e b w &
q3a1 & |y wit e
(1) 11 (2) 22 (3) 33 (4) 44

847-56+34-84 - ?=582-83

(1) 299-57 (2) 29847 (3) 146523 (4) 30067

0-000582 when expressed in scientific notation is :

At 311 gl #§ 0-000582 #F IH Fd @ :

(1) 582x10* (2) 5.82x10"%  (3) 5-82x10* (4) 5.82x10°°

30
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102. (25.025/0-025) is equal to
(25-025/0-025) T& &

(1) 1001 (2) 1001 (3) 1001 (4) -1001
103. The value of 25-5[2+3{2-2(5-3)+5}-10]/4 is

25-5(2+3{2-2(5-3)+5}-10]/4 %1 91 2

(1) 5 (2) 2325 (3) 2375 (4) 25
104. I A:B=2:3,B:C=4:5 C:D=3:7, then A:B:C:D is

3t A:B=2:3,B:C=4:5 C:D=3:7,9 A:B:C:D 2

(1) 24:36:45:105 (2) 12:36:45:105

(3) 24:36:65:105 (4) 24:48:45:105

105. A train travels from Delhi to Varanasi at the speed of 20 km/hr and from
Varanasi to Delhi at the speed of 30 km/hr. The average speed for the whole
journey 1s

(1) 24 km/hr (2) 26 km/hr (3) 25 km/hr (4) 255 km/hr

wF 37 g & aroedt @ 20 fotfio/Ho #i nfa @ werht } sk amwmi ¥
a® 30 fHorfio /0o &I 7fd & weidt 21 wqul aen F fow sfgm wfy 2

(1) 24 fFotfto /g0 (2) 26 Twowfto /Ho
(3) 25 fRoHflo /g0 (4) 255 fHorto /5o

1100) 31 (P.T.0.)
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106.

107.

108.

109.

110.

(100

If 12 carpenters, working 6 hours a day can make 469 chairs in 24 days, ho
many chairs will 18 carpenters make in 36 days, each working 8 hours a day?

uﬁ125@,@%&6@%&24%ﬁ4695@wwm%,36&:
T fA § 8 U2 FW F 18 WS fher Fradl w7

(1) 1260 (2) 1320 (3) 920 (4) 1380

What is the digit in the unit place of 2°' ?
25! f T WE W IFH 27
(1) 2 (2) 8 (3) 1 (4) 4

A train 300 m long passes a bridge in 15 scconds moving at a speed
100 kmph. Find the length of the bridge

(1) 117-67 m (2) 11867 m (3) 11967 m (4) 11667 m

w 300 Ho @l 27 100 fhofo/de A A & 49 W 14 FFT # wH (@ F
St 21 g A o R

(1) 117-67 Hlo  (2) 11867 Ho  (3) 11967 He  (4) 11667 He

A room is 9 metres long, 7 metres broad and 3 metres in height. Find the cost
papering walls at the rate of Rs 50 per metre” ?

(1) Rs 4,800 (2) Rs 4,600 (3) Rs 4,200 (4) Rs 4,500

wF FA0 9 e wwan, 7 die Wre ok F9i # 3 die B1 50 %o wfy e A
# Fan § Frre @ i Fiwa e

(1) 4,800 %o (2) 4,600 %o (3) 4,200 %o (4) 4,500 %
39798 + 3798 + 378 = ?

(1) 43576 (2) 43974 (3) 43984 (4) 549532

32
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111.

112.

113.

114.

115.

116.

(100}

0-04 x10" when expressed in decimal form is
ZyWed ®9 ¥ 0.04x10* &1 9 B
(1) 4 (2) 40 (3) 400

Which of the following is highest fraction?

feifea § @9 I=am a7

o 3 2
i — | Rt
(HT f2)4 (13

The value of 36 -[18 -{14 -(15-4 +2x2})}] is
36 {18 -{14-(15-4+2x2)}] F WA &

(1) 23 (2) 24 (3) 21

Find X if (X/5)-(X/6)=4

afz (x/5)-(X/6) =4, @ X Fe=

(1) -120 (2) -100 (3) 100
5% of a number is 15. The number is

uF I H 5%, 15 2| &
(1) 150 (2) 200 (3) 250

18U/ 118/25 Set No. 1

(4) 4000

7
4 3

(4) 25

(4) 120

(4) 300

Salaries of A, B and C are in the ratio 1:2:3. Salary of B and C together 1s
Rs 6,000. By what percent is salary of C more than that of A?

A,Baﬂtc&saﬂmﬁl:zzsﬁ%lBaﬁtcwémﬁame,oooao%l

frg yfT @ C ®1 dd4 A B Afee R7
(1) 300 (2) 600 (3) 100

33

(4) 200

(P.T.O.)
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118.

119.

120.

(100)

If a 13 metres long iron rod weights 23-4 kg, then what will be the weight of
© metres long iron rod?

(1) 72 kg (2) 12-4 kg (3) 10-8 kg (4) 18 kg

e 13 Wit o AR F TS B a9 234 fhollle B, 79 6 Wi wH R F T3
1 I9F ¥4 MY

(1) 72 foume  (2) 124 TReWlo  (3) 10-8 fFoUTo  {4) 18 fHomto

If the cost of one dozen pencil is Rs 14:40. The cost of 4 pencil is
(1) Rs 520 (2) Rs 4-80 (3) Rs 7-20 (4) Rs 660
Ife s == Gfaa fi fma 1440 Fo B| 4 Ufga H Fg 2

(1} 520 %o (2) 480 %o (3) 7:20 %o (4) 6:60 %o

[(2x3)%)® is equal to
(2% 3)*P =t B
(1) 36x36x 36 (2) 12x12x12

(3) 6x6x6x6x6 (4) 2x6x6

X,Y and Z invested Rs 2,400, Rs 3,600 and Rs 4,800 in a business. Out of a
profit of Rs 1,260, X’s share is

(1) Rs 280 (2) Rs 420 (3) Rs 560 (4) Rs 140

XY 3t Z 3 & MR # 2400 %, 3,600 Fo 3 4,800 %o @AW fa
1,260 %o & T ¥ X 1 frem 2

(1) 280 %o (2) 420 %o (3) 560 %o (4) 140 %o

34
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126. Entice
(1) Refer (2) Repel (3) Charm (4) Absorb

127. Resolute
(1) Uncertain (2) Crude (3) Filthy (4) Graceful

128. Annihulate
(1) Demolish (2) Beseech (3) Establish (4) Irritate

Directions : (Question No. 129-132) Select the correct meaning of the given
idiomatic expressions.

129. To bring home

(1) To excite great applause (2) To make one realise clearly

(3) To produce (4) To publish

130. To harp on
(1) To talk about persistently
(2) To retain possession of
(3) To endure

(4) To frequent in a rathe aimless fashion

131. To sce through
(1) To be in agreement (2) To stay and witness

(3) To inspect (4) To detect the trickery

(100) 36

gcollegeduniaa

—



18U/118/25 Set No. 1

Section—II
QUEs—n
LANGUAGE : ENGLISH
(For Candidates Opting English Language)

fote . Four alternatives are given as possible answers to each question. Give the correct
choice as an answer, '

directions : (Question No. 121-124) Select the word nearest in meaning to the given
italic word.

21. Detest
(1) Expel (2) Examine (3) Uproot (4) Hate

22. Treachery

(1) Treasury (2) Betrayal (3) Usury (4) Banishment

23. Detnmental

(1) Harmful (2) Determined (3) Helpful (4) Disciplined
24, Vibrant
(1) Sympathetic (2) Monotonous (3) Exciting (4) Hateful

irections : (Question No. 125-128) Select the word opposite in meaning to the given
italic word.

25. Quack
(1) Arrogant (2) Wise (3) Pretender (4) Victim

00 35 (P.T.0.)
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132. To work out
(1) To calculate (2) To build up
(3) To cooperate (4) To repay completely

Directions . (Question No. 133-136) Select the right word(s) to fill in the blanks in
the given sentences.

133. home, I took off my uniform.
(1) Reaching (2) Reached
(3) Having reached (4) Being reached
134. She knows French.
(1) to speak (2) how to speak
(3) speaking (4) how is spoken

135. [ have cited examples with a view to

my point clear.

(1) making (2) make (3) have made  (4) be making

a new dictionary.

136. Mr. Sharma has

(1) written (2) made (3) prepared (4) compiled

Directions : (Question No. 137-140) Select the correct form of the verb to complete
the following sentences.

the room than the students stood up.

137. No sooner did I

(1) entered (2) enter (3) had entered (4) have entered

(100 37 (P.T.O.)
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138.

139.

140.

We

your greetings yesterday only.

{1) have received (2) receive

|3) had received

She me since her childhood.

(1) 1s knowing (2) knows

(3) has known

If she here, we could start the function.

(2) 1s

(1) were

(4) received

(3) has been

(4) has been knowing

(4) had been

Directions : (Question No. 141-144) Choose the correct preposition for each blank.

141.

142.

143.

144¢

(100)

There is unrest the university campus.

(1) in (2) on (3) at

I object being called a liar.

(1) for (2) at (3) on

The document should be written blue ink.
(1) in (2) with (3) by

We thoroughly discussed the plan.

(1) about (2) on (3) over

38

(4) into
(4) to
(4) on

(4) None of these
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Directions : (Question No. 145 and 146) Choose the correct alternative for each

blank,
145. Give me one-rupee note.
(1) a (2) an (3) the (4) No article
146. This is — engineer whom 1 was talking about.
(1} a (2) an (3) the (4) No article

Directions : (Question No. 147 and 148) Select the word which has been wrongly

spelt.
147. (1) Comparision (2) Receipt
(3) Superintendent (4) Career
148. (1) Attendance (2) Allotted (3) Priviledge (4) Dependent

Directions : (Question No. 149 and 150) Select the part of speech of the underlined
word in the given sentences.

149. Who will man the ship?

(1) Noun (2) Pronoun (3) Adjective (4) Verb

150. Hers is a good book.

(1) Noun (2) Pronoun (3) Adjective (4) Verb

(100} 39 (P.T.0.)
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(e o et farenféfat o o)

g fiefafigs 3 (1), (2), (3) TT (4) FHH F AR-=R T 3w A @ R, Sl R
w 9 T | 39 G I A I

151, Tited’ Tide IR ¥ @E w27

(1) WA= efwes (2) L= A
(3) Y=g (4) 9@ @A Hl

152, S5 & SO % d@w w1 wQ AW Hha Hw
(1) sifeaemEm =T (2) weredt @l
(3) THHW qH (4) I9EE

153. ‘smgaet on mn ¥ FEH F oEs FA 27
(1) Sz FAR (2) ST AT
(3) *fer @R (4) T

154. ‘99 o’ fem faw @ gwfEm = 27
(1) Far (2) AT (3) Terfia (4) T

(100) 40

[ ]
gcollegedumas
India’s largest Student Review Platform

—



18U/1 18/25 Set No. 1

155. ‘Frad T ot @ gy, R oftw & few gn A @7
(1) & I (2) WRd= T (3) wrfearg (4) @ T

156. ‘daeea TEl 69 Fegey f = R7

(1) @UEHA (2) qFF FA (3) WY A (4) TR

157. ‘mafzs fFa #fa i = 27

(1) T8 (2) HeFaTE (3) HvrEgHE (4) g™

158. ‘Fwi fiaaeft foaehl = 27
(1) qerdierE (2) qEH (3) ez (4) TR g

159. wadt € ‘gamad’ fEe wma § a7
(1) @ dreft (2) arasdt (3) STV (4) 33 &=

160. ‘FHam A T F AGH A 87
(1) gaeH (2) e FrE (3) maee AR (4) REwEr fE

161. ‘g ghwsg fea faw w1 27
(1) F1A (2) ACHE (3) U= (4) fremy

(100 41 (P.T.O,)
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162. ‘T H s freht w27

(1) srerre oo T (2) ARG aqaa
(3) faTat (4) dedara fgadt

163. HId & ImE W wrel weg fhg o & 27
(1) q2¥d (2) faesh (3) 29 (4) T=Em

164. Fofofigd d #19 wse ‘wsn' &1 w@ig 98 87
(1) sofa (2) ed (3) ¥ (4) T

165. 7 o #17 Yo FHG F qFgarE R7?
(1) wags (2) wI (3) e (4) T

166. = ¥ #9 vez wra=s g7 T8 27

(1) s=94 (2) ASHIA (3) HA (4) TTTETT

167. = d & F9-m wee ‘T’ #1 waigarh 48 27
(1) af= (2) A (3) 7 (4) fe=

168. ‘myi’ # wE fawm waf@ Hifs)
(1) faeg (2) fay (3) *Z (4) =Yy

(100) 42
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169. 9 1 wd faeim wafig £ifvw

(1) && (2) 513 (3) e (4) ¥m7
170. 'To W # AH-TUZ B UH e 1 999 Hifw

(1) 3T (2) &y (3) 3FTEd (4) AFea
171, "I o e A @ S R A d fa-m a1 27

(1) FJareg (2) W=y (3) FHaT=g (4) FYHaTA

172. N 3§ 9rg T gEE W oAl o g 27
(1) firet firem (2) | FEEAT (3) T F T (4) 9T @

173. "33 Wow A G A R 1 oad ol wafe i
(1) 3|99 F & (2) F9&H AfH

(3) TT-3HHT BH FH HEAT (4) T F e

174, & W & IZET gErad FoE wd w27
(1) 9a7 3ISM (2) U || &

(3) FATE IFAT (4) 9EA A A

175. ‘3g@ * wd afu-fasse w0 27
(1) 3q + &@ (2) 3 + @@ (3) 3 4 =@ (4) 3 + =@

(100} 43 (P.T.O.)
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176. ‘tveEfd 9FE i = fRe 97 yEn ¥ g R7
(1) fa| Fa (2) waHt (3) Frer-dtarg (4) 1 T2

177. ‘wmwar’ wer d FH-T 39 Y 27

(1) @ (2) & (3) = @) =

178. ‘wix’ ez ® FH-¥ YA WIW 87

(1) 3 (2) & (3) el (4) T

179. ‘s@uw W =E 34 w1 oEm?

(1) @mE aH (2) STAYUH (3) I (4) gt

180. ‘wifyar = me sffem =afa s
(1) AP (2) aAfrh (3) it (4) i

* w w
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10.

| ¢ o

12.

13.

14.

spsafetal & foro fadw

(79 ufed & 999 WM-UE W AW MoWoHWo Iere-4d & 2l ‘]_131 W
#9a Hieft/Frell a@-mge 99 @ @ 9y

-qﬁ:aaﬂfﬂaﬁa:uiw%mﬁﬁaaﬁﬁmﬂmﬁngﬁqa?,ﬂwﬁJ T8 M TR
*ﬁ*ﬂ** "%ﬁwmmaﬁmwﬁﬁwrﬂmaﬁﬁwaﬁ‘lmmﬁmmim

i

1fqa om A

el wad # w7 F sfafew, temt @ "ig bl dl el wT A O8O A FTE

evHo sl Im-Ta wem B fen o 2 g® T A 413 s 7 @ faga &1 gEw AloTWedRo It~
o T fer WA FaE HloTHod o IT-TF &1 F Gedrdd &A1 qd

it ufafra TR SEO-q8 W A /@t ae 97 8 fuifa e w fed

A oTHo Ao IT-TF & WUW UE W AT A WOA FAFNE (HIFE PR @ e Aen g
F1 MET HT 3| AR -T2 ATAVEAE g Agl WyA-YIEARI @ FHIE T W R AL gl He A
<A s @ )

AoModFo TR-T1 'H FIFWE Hem, wA-EH gen 3 Az wEm (A2 W3 o7 oAE we
sy w FREEIE i ST SoTRodWe IW-TA Fo ) wiafew F Iufewa A wgEl T 2
s watmn § F of ufEAT Fg W0aF gm o wem enfe ween o vE o waies s
F1 WA AL AR

g1 § netE T # AU AweuF IW 2 W P IdE W & dEfcas I & e arE
AUk AR IM-UF &t Tl Ufh & @rad faa m@ ga @1 slodonne Jur dd g una
o e ma fEwm & sgeR 97 # mE FA E

DRI TR F TW F (A% Fad um B g9 & WA FWFE A AME T A T d 0wl
v A F O WA W TR IW TEA WD ATE

e 5 & wF A e oz ATER 3 OEA TE A wEAl 2 AR 9 R U W T o A e
A wwfsm its ¥ o A ™ o 39 R @l i 2 08w oo w4 Lo S0

7 FTE F fer wA-faE F q@ye & A A 90 Ad sfan g3 w1 v

T 1w F we A I oo e I T WG Fa /7 W Fa Feflarw A iy 3w
T W TA-GFEE 9 s eTHoHRe TW-TA F ufa & A wad &

qhar ma we A wee g e | @ 93 F sEa 9@ el

At #13 serdl wftan B sETaE @ o Fa 8, @ 9w fGvatemes gm Ruite Az =
gin /)
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